1. Determine what type of stock (according to functional components) it is:
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Machine spare part in production.

Buying chocolate figures in a retail store just before Santa Claus.

Buying winter chains on a car wheel in October.

Delivery of regular deliveries to the warehouse.

Delivery of the increased supply to the warehouse.

Delivery of wood from the forest to a customer for the production of a table planned
in 3 months.

Purchase of iron pipes from an existing supplier before the price policy change of the
supplying company.

Buying a new sensor for the company's belt machine, because you no longer have it
in stock.

Delivering the same amount of tomatoes to a fancy restaurant as you do every week.
Acquisition of a larger amount of iron, as we are changing the forwarding company
that will transport the iron.



2. The raw material stock as of the balance sheet date is 40,000 kg, the expected consumption
by the end of the year is 68,500 kg, and the company expects raw material deliveries
(purchases) in the amount of 58,500 kg this year.

What will be the ending stock?



3. A business can produce and sell 15,000 bricks next year (2024). 4 kg of gravel and sand are
used for 1 brick ; the price of gravel and sand including transport is 93 CZK/t.

The raw material stock as of the balance sheet date (October 19, 2023) is 3,000 kg, the
expected consumption by the end of the year is 8,500 kg, and the company expects raw
material deliveries (purchases) in the amount of 9,500 kg this year. The necessary stock of raw
material at the end of next year is assumed to be 2,500 kg.

Tasks:

a) Calculate the planned consumption of raw materials for the next year in CZK.

b) Determine the total purchase amount of gravel sand in kg in the next year based on the
construction of the balance equation/purchase plan.



